
 

Subject - Verb Agreement 

 

1. Seldom has the discoveries of the 

(A)/ world’s greatest discoverers, like 

(B)/  Copernicus or Galileo, been 

forgotten. (C)/ No Errors (D) 

 

2. The flood situation in the eastern (A)/ 

region of the country remain (B)/ 

grim for the fifth day today. (C)/ No 

Errors (D) 

 

 

3. How many (A)/ does the (B)/ cricket 

bat cost? (C)/ No Errors (D) 

 

 

4. There was many (A)/ people who 

voted (B)/  for him. (C)/ No Errors 

(D) 

 

 

5. Much villagers attended (A)/ the 

feast hosted (B)/ by the village 

panchayat. (C)/ No Errors (D) 

 

 

6. Playing in the park (A)/ is one of the 

thing (B)/  that small children really 

love. (C)/ No Errors (D) 

 

 

7. According to a recent survey, (A)/ 

around 60% of children below (B)/ 

the age of 5 years has been 

immunised. (C)/ No Errors (D) 

 

 

8. My visiting to (A)/ my family are few 

(B)/ and far between. (C)/ No Errors 

(D) 

 

9. Some people is (A)/ always talking 

about (B)/  themselves. (C)/ No 

Errors (D) 

 

10. Outside the cinema hall, (A)/ there 

was queue (B)/  of people waiting to 

see the movie. (C)/ No Errors (D) 

 

 

11. The essay is divided into five (A)/ 

paragraphs and every of these (B)/ 

has seven sentences. (C)/ No Errors 

(D) 

 



 

12. The mother as well as her children 

(A)/ were brought to the police 

station for (B)/  interrogation. (C)/ No 

Errors (D) 

 

 

13. This coffee is not available (A)/ in 

any of the shop in the (B)/ 

neighbourhood market. (C)/ No 

Errors (D) 

 

14. After a heated argument (A)/  they 

went to (B)/ their respective place. 

(C)/ No Errors (D) 

 

 

15. Virat Kohli is one of the (A)/ best 

batsmen that (B)/ the world have 

seen. (C)/ No Errors (D) 

 

 

16. A lot of money (A)/ were spent (B)/ 

on the common wealth games. (C)/ 

No error. (D)  

 

17. The hockey match (A)/ between 

India and Pakistan (B)/ was very 

exciting. (C)/ No error. (D)  

 

18. Modern medicines has scored 

significant victories (A)/ against both 

infection and trauma (B)/ the major 

causes of ill health and death. (C)/ 

no error (D) 

 

19. Due to the (A)/ snow the (B)/ marks 

was unrecognizable. (C)/ no error 

(D) 

 

20. Either Ramesh or Reema (A)/ have 

the keys (B)/  to the cupboard. (C)/ 

No Error (D) 

 

21. The jury is from (A)/ different parts 

(B)/ of the country. (C)/ No Error (D) 

 

22. One of the proposals (A)/ received 

by us (B)/  seem very interesting. 

(C)/ No Error (D) 

 

23. Most of the gold deposits 

discovered (A)/ during the original 

gold rushes was exposed (B)/ at the 

Earth’s surface and were found by 

simple prospecting methods. (C)/ No 

error. (D) 

 



 

24. A group of birds (A)/ migrate from 

the southern part (B)/ of the country 

to the northern part during summer. 

(C)/ No error (D) 

 

25. The scheme has been (A)/ 

implemented only in these (B)/ part 

of the country and the Prime Minister 

will visit it shortly. (C)/ No error (D) 

 

26. The sowing of summer crops (A) / 

such as rice, soybeans and corn (B) 

/ have been lagging as a result. (C) / 

No error (D) 

 

27. Not only the (A)/ students but also 

(B)/ the principal were laughing at 

the joke he cracked. (C)/ No error 

(D) 

 

28. While banks almost always (A)/ 

meets the overall target, keeping up 

with the (B)/ sub targets was getting 

difficult for banks with limited 

expertise in certain sectors. (C)/ No 

Error (D) 

 

29. The initial trends has shown (A)/ 

that AAP is set to repeat for (B)/ 

thethird time with Chief Minister 

Arvind Kejriwal heading the 

government. (C)/ No error (D) 

 

30. These companies have been asked 

(A)/ to furnish their financial details 

(B)/ and information about its board 

members. (C)/ No error (D) 

 

31. The scheme which will be launched 

(A)/ during the next two years (B)/ 

require an additional investment of 

one hundred crore . (C)/ No error (D) 

 

32. This is one of the best books (A)/ 

that has been (B)/ published this 

year. (C)/ No error (D) 

 

33. Neither the reporters nor the editor 

(A)/ were satisfied by the attitude 

(B)/ of the publishers of the 

newspaper. (C)/ No error (D) 

 

34. There are much (A)/ advantages of 

working (B)/  together in a group. 

(C)/ No error (D) 

 

 



 

35. Apple growers in Himachal Pradesh 

says (A)/ they are harvesting a 

bumper crop (B)/ this year due to 

good weather conditions. (C)/ No 

error (D) 

 

 

36. I expect each students present (A)/ 

here to listen carefully to the (B)/  

instructions I’m giving. (C)/ No error 

(D) 

 

 

37. A pack of wolves (A)/ were chasing 

(B)/ the deer in the forest. (C)/ No 

error (D) 

 

 

38. Lack of required (A)/ vitamins and 

minerals (B)/ lead to several 

complications in the human body. 

(C)/ No error (D) 

 

 

39. It have been only (A)/ through 

writing (B)/ that men have been able 

to spread their ideas to mankind. 

(C)/ No error (D) 

 

 

40. Modern science have (A)/ broken 

many myths (B)/ about our food and 

diet. (C)/ No error (D) 

 

 

41. The Committee agreed (A)/ that 

small businesses (B)/ has been 

adversely affected by COVID19. (C)/ 

No error (D) 

 

 

42. One of (A)/ the biggest enterprise 

(B)/ in India is declaring a lockout. 

(C)/ No error (D) 

 

 

43. All our teachers teaches (A)/ us 

very well but the (B)/ mathematics 

teacher is the best. (C)/ No error (D) 

 

 

44. Public speaking (A)/ is one of (B)/ 

the most feared form of 

communication. (C)/ No error (D) 

 

 



 

45. My mother generally (A)/ read the 

local newspaper to (B)/ keep abreast 

of the local news. (C)/ No error (D) 

 

 

46. The police arrested (A)/ two young 

men, but (B)/ neither of them were 

responsible for the robbery. (C)/ No 

error (D) 

 

 

47. Only five minutes (A)/ are allowed 

(B)/ for each speaker during the 

function. (C)/ No error (D) 

 

 

48. Despite warnings the driver (A)/ 

continued to speed and have been 

(B)/ caught by the traffic police. (C)/ 

No error (D) 

 

 

49. Many citizens are gravitating 

towards the nation’s (A)/ second 

largest state because it offer (B)/ 

ample job opportunities. (C)/ No 

error (D) 

 

50. Skeptics worries that the 

devaluation (A)/ of the country’s 

currency is a desperate (B)/ move to 

bail out struggling exporters. (C)/ no 

error (D) 

 

 

Ans. 

1.A 

2.B   

3.A   

4.A   

5.A   

6.B   

7.C   

8.A   

9.A   

 

10.B   

11.B   

12.B   

13.B 

14.C   

15.C   

16.B   

17.D   

18.A   

19.C   

 

20.B   

21.A   

22.C   

23.B   

24.B   

25.B   

26.C   

27.C   

28.B   

29.A 

 

30.C   

31.C 

32.B   

33.B   

34.A   

35.A   

36.A   

37.B   

38.C   

39.A   

 

40.A   

41.C   

42.B   

43.A   

44.C   

45.B   

46.C   

47.B   

48.B   

49.B   

 

50.A   


